Assignment

Solve each equation.

b

D |7

=2

3) [x+5|=10
5) |-3x| =3
7 [b-1]=2

9) [4+n|=4

11)

|
—l=1
5
13) [r-1]=3
15) |x-3|=3
17) |6b| =6

Vv

19
)6

=3

21) |a-3|=6

23) |x+4|=9
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Name

ID: 1

Date

Period

2) |r+3]=2

4) [n+1|=1
6) |v+5|:1
8) |5x| =10

10) |-3+x| =1

Y
12) |—| =1
) 5

14) [m+6|=11

16) |-3n| =12
18) % 1
20) |=| =2
22) |[k-1|=1
24) |x-6|=6
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Answers to Assignment (ID: 1)

1) {10, -10} 2) {-1,-5} 3) {5,-15} 4) {0, -2}
5) {_11 1} 6) {_41 _6} 7) {31_1} 8) {21 _2}
9) {0, -8} 10) {4, 2} 11) {5, -5} 12) {5, -5}
13) {4, -2} 14) {5,-17} 15) {6, 0} 16) {4, 4}
17) {1, -1} 18) {2, -2} 19) {18,-18} 20) {6, -6}
21) {9, -3} 22) {2,0} 23) {5, -13} 24) {12, 0}
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Assignment
Solve each equation.

1) |sm|=5

3) |n—3|=5

5)

Il
—_

7)

I
I
[a—

9) In—1|=7

11) |a+5|=5

13) |-6x| =6

k

15) |—
)3

‘ ) 3

17) [n-6| =2
19) |3n| =15

21) |m—1|=4

23) [n+5|=6
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Name

ID: 2

Date

Period

X

2)2

=3

4) |6p| =24

6) |5+r|=9

8) |-1+x|=4

10) |-3v| =6

a

12 =3
) 3

14) |3+ p| =3

16) [4+x| =3
18) |r-3]=9
20) |-3x| =9

22) |=|=1

v
4

24) la-1]=5
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Answers to Assignment (ID: 2)

1) {1,-1} 2) {6, -6} 3) {8, -2} 4) {4, -4}
5) {5, -5} 6) {4,-14} 7) {3,-3} 8) {5, -3}
9) {8, -6} 10) {-2, 2} 11) {0, -10} 12) {9, -9}
13) {-1, 1} 14) {6, } 15) {9, -9} 16) {-1,-7}
17) {8, 4} 18) {12 —6} 19) {5, -5} 20) {-3,3}
21) {5, -3} 22) {4, -4} 23) {1,-11} 24) {6, -4}

24 gegsvs patih-veerlsheet.ory th-worksheet
matn-worksheet.org



Assignment

Solve each equation.

1) |sn| =10
3) [x-3|=1
5) |x+4| =8
12 =3

9) |-5p| =25
11) |-6+r|=5
13) |x+1]|=7
15) |-6x| =12

a
17) |5|=1

19) |-6+x| =11

21) [n+4|=5

23) |r+3|=2
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Name

ID: 3

Date

Period

10) |a+3]=7
12) |n+5|=4
14) |sv| =5

X

16) |=| =1

18) |p-1]=2

k

20) |=| =1
)[4

22) [m-3|=3

24) |-3x| =3
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Answers to Assignment (I1D: 3)

1) {2,-2} 2) {-1,-11} 3) {4,2} 4) {3,-3}
5) {4, -12} 6) {1,—-11} 7) {15, -15} 8) {4, -4}
9) {-5,5} 10) {4,-10} 11) {11, 1} 12) {-1,-9}
13) {6, -8} 14) {1, -1} 15) {-2,2} 16) {6, -6}
17) {3, -3} 18) {3, -1} 19) {17, -5} 20) {3, -3}
21) {1, -9} 22) {6, 0} 23) {-1,-5} 24) {-1,1}
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ID: 4

Name
Assignment Date Period____
Solve each equation.
1) |6n]| =6 I
b v
3 17]=3 4 |3 =2
5) In-1]=4 6) |k+5|=11
7) |p+2|:3 8) |1+a|=4
9) |x-5|=1 10) |5m| =20
11) |3n| =3 LI
5
13 |1 14) |r+1] =2
5
15 1% 21 16) |x-3]=1
2
17) |b-6| =1 18) |n+3|=2
19) |-6v| =6 20) |a+1|=1
21) |-4x| =4 2 [ 5
23) |k-1|=7 2 | s
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Answers to Assignment (ID: 4)

1) {1,-1} 2) {10, -10} 3) {12, -12} 4) {6, -6}
5) {5, -3} 6) {6, -16} 7 {1,-5} 8) {3,-5}
9) {6, 4} 10) {4, -4} 11) {1, -1} 12) {5, -5}
13) {5, -5} 14) {1, -3} 15) {2, -2} 16) {4, 2}
17) {7, 5} 18) {-1, -5} 19) {-1, 1} 20) {0, -2}
21) {-1, 1} 22) {9, -9} 23) {8, -6} 24) {9, -9}
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Assignment

Solve each equation.

D [-6+p[=7
3) |—4+x|=1
5) [3x| =3

7) |-4n| =16
9) |-1+x|=1
11) [n+1]=5
13) |k+2] =7
15) |-6x| =12
17) |3m|=9

X

19) |5|=3
21) [n—6|=10
23) |n+4|=1
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Name

ID: 5

Date

Period

10) |—=| =1

v
5

12) |a-5|=6
14) [p-5|=8

16) |2n| =10

20) [b+1|=2

22) |x+3] =2

24) |3+r|=3
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Answers to Assignment (ID: 5)

1) {13, -1} 2) {9, -3} 3) {5,3} 4) {7,3}
5) {1,-1} 6) {-5,5} 7) {-4, 4} 8) {6, -6}
9) {2,0} 10) {5, -5} 11) {4, -6} 12) {11, -1}
13) {5, -9} 14) {13 -3} 15) {-2,2} 16) {5, -5}
17) {3, -3} 18) {9, -9} 19) {15, —15} 20) {1, -3}
21) {16 —4} 22) {-1,-5} 23) {-3,-5} 24) {0, -6}
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Assignment
Solve each equation.

1) |-4v| =38

3) |=|=1

5)

»|>S

7) |-4+p|=38
9) |-6+k| =2

11) |sr| =20
13)

v
6

15)

I
I
\S]

17) |n-5| =2
19) |a+2| =2
21) |4x| =4

r

23 =1
) 2
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Name

ID: 6

Date

Period

2) |-6a| =6

6) [n—5|=11

8) |x-3]=2
10) |m+1| =4
12) |-4x| =4

n

14
)2

=3

16) |x+1] =1

18) |p+6|=4
20) |k—5|=4

22) |3n| =15

24) =1

: ‘
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Answers to Assignment (I1D: 6)

1) {-2,2} 2) {-1,1} 3) {3,-3} 4) {5,-5}
5) {8, -8} 6) {16 —6} 7) {12, -4} 8) {5, 1}

9) {8,4} 10) {3, -5} 11) {4, -4} 12) {-1,1}
13) {12, -12} 14) {6, -6} 15) {10 -10} 16) {0, -2}
17) {7, 3} 18) {-2,-10} 19) {0, -4} 20) {9, 1}
21) {1,-1} 22) {5, -5} 23) {2, -2} 24) {3,-3}
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Assignment

Solve each equation.

1) =1

X
6

3) [3+b]=1
5) [n+6|=7
7) |-4a| =4

9) |2+n|:5

11)

X
Zl=3
5 ‘

13) |p-2| =4
15) |2m|=8

17) |-4r| =12
19) [v+1]=2

n

21 =2
) 5

23) |a+4| =1
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Name

ID: 7

Date

Period

2) [r+3] =6

4) |-4+n|=2
6) |x+1]=3
8) |3v| =15

10) |-4+k| =9

12)

X
2l =3
6 ‘

14) |n+1|=4
16) [x-5|=7
18) |-2x| =38
20) |x+3|=6

22) |-2+n|=2

24) |k+6|=4
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Answers to Assignment (ID: 7)

1) {6, -6} 2) {3,-9} 3) {—2,—4} 4) {6,2}

9) {3,-7} 10) {13, -5} 11) {15 —15} 12) {18,-18}
13) {6, -2} 14) {3, -5} 15) {4, -4} 16) {12, -2}
17) {-3, 3} 18) {4, 4} 19) {1, -3} 20) {3, -9}
21) {10,-10} 22) {4, 0} 23) {-3,-5} 24) {-2,-10}
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Assignment
Solve each equation.

1) |-3p| =18

3) |—| =2

m
5

5) |[-4+x| =1
7) |n+3]=3
9 |r+1]=1

11) |-4n| =4

X
13) |- =1
) 3

23)

I
I
(98]
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Name

ID: 8

Date

Period

2) [3x| =6

6) |-3n|=9

8) [b+5]=8
10) [x-2|=3
12) |5v| =10

14) |2 +k| =3

16) |p-5|=8

18) |x+6| =6
20) |4m| =20

22) [n-1| =1

n

24) |—| =2
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Answers to Assignment (I1D: 8)

1) {-6,6} 2) {2,-2}
9) {0, -2} 10) {5, -1}
13) {3, -3} 14) {5, -1}
17) {9, -1} 18) {0, -12}
21) {15,-15} 22) {2,0}

27 osgsgs ath-vsrisheel.crg

3) {10, -10}
7) {0, -6}
11) 1

19) {-1,1}

15) %12 -12}
23) %15 -15}

4) {18,-18}
8) {3,-13}
12) 2}

20) {5, -5}

16) %13 -3}
24) %12 -12}
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Assignment

Solve each equation.

1) |3+v|=3
3) |n—6|:7
5) [3p| =3
7 |5x] =25
9) || =2

r
11) || =2
13) [n+5]=1
15) |-2n| =2

Vv
17) || =3

X
19) || =3
21) |-2+n|=6
23) |x—1| =2
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ID: 9

Period

Name
Date

2) |-2+x|=3
4) la+6|=3
6) |k+4|=2
8) 2 =2
10) |x+3| =4
12) |b+1|=1
14) [v-2]=3
16) |x+4| =6

X
18) Z‘:3
20) |5+k| =6
22) |p+6|=2
24) |3n| =6
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Answers to Assignment (I1D: 9)

1) {0, -6} 2) {5,-1}
5) {1,-1} 6) {2, -6}
9) {12, -12} 10) {1,-7}
13) {-4, -6} 14) {5, -1}
17) {18,-18} 18) {12, -12}
21) {8, -4} 22) {-4, -8}
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3) {13, -1}

7) {5,
11) {8, -
15) {-1
19) {18
23) {3, -

_5}

8
1
-1
1

8}

4) {-3,-9}
8) {8, -8}

12) {0, -2}
16) {2, -10}
20) {1,-11}
24) {2, -2}
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Assignment
Solve each equation.

1) |-2m| =6

3) |—3r| =15

7) |n+6| =7
9) [3k|=6

n
2

11) |=| =3

13) |r-2| =3

15) |-6+n| =3
17) |b-2| =6
19) |v+4| =5

21) |-2+x| =2

X

23 =1
) 14
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ID: 10

Period

Name
Date
n
2 |5]=1
4) [3+b| =1
6) |v—2|=1
8) |a+4|=2
10) |-2x| =4
12) |5p| =10
m
14) Z‘:3
16) |x+5|=3
18) |-2x| =2
20) |-6a| =18
\
2) |3|=3
24) In+1|=4
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Answers to Assignment (ID: 10)

1) {-3,3} 2) {4, -4} 3) {-5,5} 4) {-2, -4}
5) {12, -12} 6) {3, 1} 7) {1,-13} 8) {-2, -6}
9) {2,-2} 10) {-2, 2} 11) {6, -6} 12) {2, -2}
13) {5, -1} 14) {12 -12} 15) {9, 3} 16) {-2, -8}
17) {8, -4} 18) {-1, 1} 19) {1, -9} 20) {-3,3}
21) {4, 0} 22) {9, 9} 23) {4, -4} 24) {3, -5}
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